PREHLED USPESNOSTI HRACU V JEDNOTLIVYCH ZAPASECH

REBESOVICE C STAY BEDN{\R PRY'M{-\ SENKYR CERNY CERNY JAMNICKY BEDNA'IF'( PETR
OP II. ZDENEK MILOS JAN LIBOR RADEK MILAN ANTONIN HRDY
BODY | % | BODY | % | BODY| % | BODY | % | BODY | % | BODY| % | BODY | % | BODY | % | BODY | %
Nové Branice B - RC 13:5 2 | 4/500(2 | 4|500(0 | 4| 00111 4250 I I I I I
RC - Prace A 10:8 [[3 | 4(750(3 | 4{750(2 | 4/500(1 | 4| 250 I I I I I
Ofechov A - RC 126 |2 | 4|500(2 | 4|/500(1 1 4|250|0 1 4| 0,0 I I I I I
RC - Sokol Kufim A 11:7 (|4 | 4|100,0(3 | 4| 7501 | 4] 25,0 I 2 | 4500 I I I I
Mokré C - RC 9:9 [[3 1 47503 1 4|750[0 1 2| 001211 25002 1 4{500 I I I I
RC - SilGvky C 10:8 |2 | 45002 | 4| 50,0 I 31 4(750(2 1 4500 I I I I
Nové Branice C - RC 7:11 (3 1 47503 | 4750 I 11 4|250|3 1| 4|750 I I I I
RC - LaZdnky A 4:14 (3 | 4| 75011 4250|011 4| 0001 12|00 f0 1 3| 00 I I I I
Tidnov D - RC 13:5 |0 | 4| 0,0 |4 | 4]100,0 I 11 4|250(0 1 4| 00 I I I I
Nedvédice A - RC 810 3 | 4| 7501 1 42501 | 4| 250 I 314|750 I I I I
RC - Ostopovice A 1:17 I I 0 | 00 |11 4250 I o1l 4|00 (01 4| 00 I I
stav zakladni ¢asti 5-1-5 (125 | 40| 62,5 |[24 | 40| 60,0 |5 | 30| 16,7 |[9 | 31| 29,0 |12 | 27| 44,40 | 4| 0,0 [0 | 4| 0,0 I I
Lazanky A - RC 12:6 | 412503 | 4|750[1 | 4250 I I I I ol 4| 00 I
RC - SilGvky C 5:13 [0 | 00 (11 4]|250 I 11 4| 250 | 4| 50,0 I I I I
Orechov A - RC 5:13 | 11 4250112 | 4({250(1 I 250 (2 | 50,0 | | | |
Tidnov D - RC 15:3 0|1 4/ 00 (21 4|500[0 | 4| 0,0 I I I I I I
RC - Nové Branice B 4:14 | 25012 | 4({500(1 1 4|/250[0 1 4| 0,0 | | | | |
RC - LaZdnky A 7:11 I 3 14|750|01 4| 0,0 I 25,0 | 4| 50,0 I I I I
Silivky C - RC 11:7 I 3 14|750(01 400 1|1I 25,03 | 75,0 I I I I
RC - Ofechov A 6:12 | 11 425012 | 4500 | | | | | |
RC - Tidnov D 7:11 I 31475011 4250|011 4| 0,0 | 4| 50,0 I I I I
Nové Branice B - RC 16:2 |1 | 4]250(1 1| 4/250(|0 1| 4] 0,0 | o | 0,0 | | | |
stav nastavbové casti 0-0-9 |[3 | 20| 15,0 [[20 | 40| 50,0 |[ 6 | 36| 16,7 || 4 | 24| 16,7 |[12 | 24| 45,8 [ [ o | 4 00 [
CELKEM 5-1-14 |28 | 60| 46,7 ||44 | 80| 55,0 |12 | 66| 16,7 |23 | 55( 23,6 (|23 | 51( 45,10 | 4( 0,0 (o | 4( 0,0 0o | 4| 0,0 I




